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PA S
Hu: CAX DEHM 23X
Ol Al BRI(LSAIDSAYSE3IH) (49 @)
SN - BB CRIEN) - MRAR - BAS Ol &t = HIDE
01 SLHOIH 8,000 8,000 0
OUSAlE g2F2 ol
20,0002 *82 x503] 8,000
206 M=l 60,000 30,000 30,000
01 HEHl 60,000 30,000 30,000
OXETME HolE 7Y
100,000& *400& 40,000
OXHTHE HIE P
50,0002 x400%£ 20,000
305 a2 S 3,000 3,000
01 =S 3,000 3,000
Oxtgse 2d= 3,000,000 14| 3,000
401 Al HIZ S CHYI 1,805,000 2,005,000 £.200,000
01 Al&H| 1,800,000 2,000,000 A200,000
O8Al XM 900,000,000 * 14 900,000
O=84d M 900,000,000 *14] 900,000
03 A2 28I 5,000 5,000 0
OAIE 2 THHI 5,000,000 14] 5,000
NS EX 2 22l 634,500 662,000 227,500
201 Zet=H| 198,000 198,000 0
02 3324l 198,000 198,000 0
Otls, 388 dJlles
15,000,000& 123 180,000
OFlE3thet Stle=s
30,0003 x50 =% 123 18,000
401 AlZHIZ R0 436,500 464,000 227,500
01 Al&€HI 431,500 459,000 227,500
O M0 A 3,500,000 x57H A 17,500
OtlE HASE E3At
10,000,000 *14] 10,000
Oustlss £X 30,000,000 %37H A 90,000
OZEAESE £X 12,000,000 204 2 24,000
OLEDEX 2 &XI 3,000,000 1074 2 30,000
OmENEERERS
200,000,000 * 14 200,000
Osgtl=d| #X 2,000,000 *109H 2~ 20,000
OF2s &% 2,000,000 *200H £ 40,000
03 Al 2 0HHI 5,000 5,000 0
OUStzsS Al&FUHY
5,000,000& *14] 5,000
eitEY nsed 75 5,534,891 7,742,439 22,207,548
SIHEMS| (LS LEASEESH) 720,156 890,835 A170,679
SHFE 2l 622,056 765,831 A143,775
101 e124H| 67,736 66,029 1,707
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SA - B - S9I(E) - MRAR - BAS = HIDE
ONSINTA 228 =UNs o2
40,0003 ~4CH+ 122 1,920
202 4t 17,600 13,000 4,600
01 =LH0AH 17,600 13,000 4,600
OSAIZER & sgFEx2e 20
20,0002 * 112 *802 17,600
305 eSS 10,000 10,000
01 eSS 10,000 10,000
OXt& A0l 2l& tiala
10,000,000 *14] 10,000
307 glzto| & 15,000 12,000 3,000
02 2IZHBSAIEE & 15,000 12,000 3,000
OuSotE SAIEHH &Sl X
15,000, 0002 *100% 15,000
401 Al HIZ S HYI 160,000 390,000 A230,000
01 Al&H| 160,000 390,000 A230,000
OfReIEE3t0et #X
30,000,000 %274 2~ 60,000
OSelcksotnet 2 A sSe
5,000,000 «6IH 2 30,000
OCCTV =Xtk CHHEXI® X & Wi
30,000,000 * 14 30,000
OSY=F1} OIZAIL
20,000,000 *14] 20,000
OPM HXI+& &R 20,000,000& » 14 20,000
405 THHF SH| 69,000 69,000
01 THHL ESFI=HI 69,000 69,000
ORI HAS0ISH AxteE 7Y
50,000,000& *1CH 50,000
Ozeglg ¢ 7,000,000 1CH 7,000
OSMAMIED] 7 2,000,000 *1CH 2,000
ORSX HASHOISER HAEHA &
10,000,000 * 14 10,000
dESHELH=EY WS SE 98,100 98,100
201 B2 S| 36,500 36,500
03 HAr2SHI 36,500 36,500
onszel A28 7
36,500,000 * 14 36,500
307 glztol & 61,600 61,600
05 2ItRIE =3 61,600 61,600
O=8H LSS
110,0003 ~402 * 14 61,600
2 HASHIEALNSALSLSIA) 4,814,735 6,851,604 £2,036,869
A& 72l 3,933,255 5,827,844 21,894,589
101 ©12A4H| 397,855 157,644 240,211




SN DSH
Hu: OIiEA DESA 712
Ciel: DESA HIHBHLSADEALSHIH) (ool &)
SN - BB CRIEN) - MRAR - BAS Ol &t = HIDE
M ORIMZZE2XNSE s 397,855 157,644 240,211
OXNG =TS LAANS 22 397,855
SP==i 95,2003 9 *230& 197,064
cAHXt=E 95,2002 x9* 11 9,425
oFxFd 95,2002 0 46 39,413
oAbl %gt
17,8503 <92 +BA| 2t 113 14,138
oggdad 138,780 x0& »60! 74,942
c4lEE fE= 334,980,000& *12.5% 41,873
SRS 3,000,000 +7H 21,000
201 Let=EH| 590,400 625,200 A34,800
01 At22t2[HI 560,400 595,200 234,800
OSEFIE Mt Stz
20,000,000 *14] 20,000
Ot 22X axtz
400,000,000 *14] 400,000
OBYFNY N2 20E o
30,000,000 *14] 30,000
ONES SHEXY SHHS HEE2S
R 2,000,000 14] 2,000
OBYFIE ZHEH S
600,000 671 A+ 123 43,200
O=gF=IE IV =24+ EY
22,000,000 *14] 22,000
OSE=XE =X2HEH |KAES 29
600,000& 6 Ax 12 43,200
02 3324l 30,000 30,000 0
OSE=xF AdE |RUE=>
20,000,000 %14 20,000
O=g+=nd 28 2=
10,000,000 *14] 10,000
207 A 80,000 30,000 50,000
01 H1ESHI 80,000 30,000 50,000
OFiE == dEZA 4
80,000,000 * 14 80,000
305 Bi&a =S 10,000 10,000
01 Biat=S 10,000 10,000
O3gF=F(HE2g) s 2
10,000,000& * 14 10,000
401 Al HIZ RO 2,855,000 5,006,000 22,150,000
01 AlZHI 2,850,000 5,000,000 22,150,000
O3g=xd &8 & |IE=s
2,800,000,0002*14] 2,800,000
Odbt SIESLFIE SFIHE SAt
50,000,000 * 14 50,000
03 A& 0HHI 5,000 5,000 0




PA S
S oliEy DEEY 7S
o9l DSHF HASHASADSALSEH) (chol:m2)
SN - BB CRIEN) - MRAR - BAS Ol &t = HIDE
| One=osl 5,000,000 %14 5,000
SLF(HA - 8Al) X1 & 22 534,860 619,000 A84,140
201 Zet=gH| 66,000 66,000 0
01 Al22t2l8I 66,000 66,000 0
OAMUHA ZEARIE | (=4)
6,000,000 «14] 6,000
Osdd 4 60,000,000 * 14 60,000
401 AlZHIZ RO 468,860 563,000 A84,140
01 AlZHI 465,860 550,000 A84,140
Osdd RiE= 150,000,000 *14] 150,000
Osdd &R & ==AE WM £X
315,860,000 * 14 315,860
03 Al R0HHI 3,000 3,000 0
OAIZ S HHI 3,000,000 %14 3,000
WSHMAIE &X & 2 336,620 394,760 A58,140
201 Et=23 | 33,620 91,760 A58,140
01 AlR2tel8l 21,920 21,920 0
OUSHTAIE 4A2F 7
10,000,000 » 14 10,000
Ousotd 2= M
5,000,000 14] 5,000
OLSHEAIE HHX S4
8,000 x4 +60! 1,920
OUSIEI 2R3 BFH+E
100,0002 x 10 +53] 5,000
02 3324l 11,700 69,840 A58,140
O=k #3883 IV Sule
1 900, 0003 122 *25% 5,700
OANE XA =R
500,000+ 12 6,000
206 M=Hl 25,000 25,000
01 =8l 25,000 25,000
OANERES ¢ 15,0002 *1,0007H 15,000
Octira #¢ 20,0003 *5007H 10,000
305 Bi&a =S 3,000 3,000
01 Biat=S 3,000 3,000
OuSAIES0 28 FAXIZH
3,000,000 * 14 3,000
401 Al HIZ RO 275,000 275,000
01 AlZHI 270,000 270,000
OANEd=ES £X 20,000,000 * 14 20,000
OULSHEEXE X
100,000,000 14 100,000
OnSAHTAE FXE+
100,000,000 14 100,000




PA S
Hu: OIiEA DESA 712
CHol: DESA HASHUSADSALSLEIH) O
SN - BB CRIEN) - MRAR - BAS Ol &t = HIDE
O0lHE=HY|(LEISH)
20,000,000 *14] 20,000
OZetEds £ 30,000,000 *14] 30,000
03 Al R0HHI 5,000 5,000 0
OnsSerd A&l
5,000,000 14 5,000
Glla1a] 10,000 10,000
801 OfiHIH 10,000 10,000
01 BHollEI8I 10,000 10,000
Ogetolblbl 10,000,000 *14] 10,000
HH2IAH (W ED) 409,939 692,227 A282,288
QAR HH|(LEANEAMLSELESIA) 409,939 692,227 A282,288
el 2| 409,939 692,227 282,288
101 QI8 365,016 348,680 16,336
03 SR (RINHA) 22 HE S 365,016 348,680 16,336
OZR222 X 21| 365,016
=JlE2g 187,200
HELE 2,800,000& «2H*12& 67,200
AHYelL 2,500,000 «4H*12& 120,000
cd2sd 17,360
HHSX 1,480,0002 x2% 23] 5,920
el 1,430,000 x4 23| 11,440
cHEFIHI 20,832
HHELE 2,960, 0002 x60*22] 2H 7,104
AR 2,860, 0002 x60%*23| x4 13,728
cllmERIIteg 17,760
HYE X 120,0003 «24 L +2& 5,760
srgjol= 160, 0001+2021 424 12,000
oAte2eE 36,360
AHHEBX 23,0003 x2H*60A| 2t 2,760
P2 28,0003 x4 *25A| 2t 123 33,600
oZ Azl 10,080
HHELXE 140,000 x2& + 122 3,360
IR 140,0002 ~4Zx 123 6.720
S EIECEe=TIED
2,860,0002 x34%+102| x4 38,8%
cuS=EXLH| 10,080
HHELXE 140,000 x2& * 122 3,360
AR 140,0002 ~4Zx 123 6.720
oS+ R+g(HEUR)
160,0002 ~4&x 123 7,680
oNAFA-L(HYLR)
140,000 x4+ 122 6,720
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